
Part Number/Price 
Ref# Part# Description Price

100719 RS-232 serial cable	 Consult
3 105373 Wheel kit (includes wheel, torque nut, screw, scotch mate hoops)	 Consult
4 106953 Cable assembly	 Consult
5 113030 Ramp	 Consult
6 113031 Junction box cover	 Consult
7 113033 Handle insert	 Consult
8 114413 Wheelchair stop	 Consult
9 114614 Foot	 Consult
10 14626 Nut, kep 8-32NC hex	 Consult
11 14635 Nut, lock 1/4-20NC hex	 Consult
12 14839 Screw, mach 6-32NC x 1/4	 Consult
13 14857 Screw, mach 8-32NC x 1/4	  Consult
14 14862 Screw, mach 8-32NC x 3/8	 Consult
15 14955 Screw, cap 1/4-20NC x 1/2	 Consult
17 58983 Cord grip	 Consult
18 84838 Load cell	 Consult
19 88958 Junction box board	 Consult
Note: See page 214 for indicator parts
(See Diagram Portable Bariatric/Wheelchair Scale Single Ramp)

Portable Bariatric/Wheelchair Scale  
Single Ramp with Wheel Stop  

Model RL-350-5

MEDICAL SCALES

Portable Bariatric/Wheelchair Scale
Single Ramp

M
e

d
ic

a
l Sc

a
le

s

228 An ISO 9001 registered company   © 2021 Rice Lake Weighing Systems   02/21  Prices and specifications subject to change without notice. Visit ricelake.com for current prices.



Portable Bariatric/Wheelchair Scale Single Ramp

MEDICAL SCALES   

Portable Bariatric/Wheelchair Scale
Single Ramp

M
e

d
ic

a
l S

c
a

le
s

229An ISO 9001 registered company   © 2021 Rice Lake Weighing Systems   02/21  Prices and specifications subject to change without notice. Visit ricelake.com for current prices.


